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103765
V Semester B.Com. Examination, December - 2019
(CBCS) (F+R) (2016-17 and Onwards)
COMMERCE
Paper - 5.4 : Costing Methods
Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely either in English or in Kannada.
~en — @ / SECTION - A
BYNT O3V TRTWSR  2TL mﬁ—@aﬁ&ﬁ@ﬁ G0B0R.  TIOIROT WT-TI o0 HTHE
OBNYT, BROWTTT. 5x2=10

Answer any five of the following sub-questions. Each sub-question carries
two marks.

1. (a) Bom 3 ﬁc‘,.z)e Q0TI ?
Write the meaning of Job costing.
(b) BoR-F LTV, WIAD CIRHTRTTR TR, FMOINY NTRROH JeE.
Give any four examples of industries where job costing is applicable.
(c) “wSTER FDRT WOWRER” DO 7
What do you mean by Economic Batch Quantity ?
(d) TEoh FEH SO rorUZRNER) 895, |
State any two features of process costing.
(e) HReIeBORT TV LOTWIET ?
What do you mean by work uncertified ?
() =g BB Lpraad, 368,
State the meaning of Hospital costing.
(g) Rooclpertd 5t Pesg 0w ?

What is composite cost unit ?

P.T.O.
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Suen - © / SECTION - B
BRFYwnTe FHeth FINRER wogdr. T3oIeom TFohw wh YOI, BROQWET.

Answer any three questions from this section. Each question carries
six marks. 3x6=18

2. =% ézgd SRV 225 éz;; QORNG DTAT %@Dﬁﬁ%ﬁ% 2BON0.
Write the differences between Job Costing and Batch Costing,.

3. 3PN T0ENoT 283 ﬁaﬁd @eed Je 25 deﬂa ROTOT =& des msa SRTUL3
aSeSodaab FORBIHEB0ND.

ﬁzsgmgﬁ%fo T 24,000

300 : gweal A TS nowi T 100 808 2.3 120 rosdned
Qe B ©& notdr I 60 508 2.8 80 riowdried
Qw3 C BE nown T 50 8o wbd) 40 Rotingd

B0 DedPned ¢ T& nodr T 40

}-’o@d ﬁ)@%&iﬁ% 2,000 nodnen L8, ¥ 50,000

Calculate the cost and selling price of the job after adding 25% profit on total
cost.

Materials ¥ 24,000

Wages - Dept. A - 120 hrs at ¥ 100 per hr
Dept. B - 80 hrs at ¥ 60 per hr
Dept. C - 40 hrs at ¥ 50 per hr

Variable overhead - ¥ 40 per hour

Fixed overhead - ¥ 50,000 for 2,000 hours

4, X 30TJAOCW ero:gs@mi 50:’@6":0%53. RWNZ Fged - 179 2,000 .23 6?33
DRATH, Lowd 828 R T 8 008 wTAZCRND.  FAFT dasﬁ\ T 4,000 rﬁcﬂa
YT a’meﬁa& 32,000 8nE8. -—oms IR Seswe 10 d‘* 0T 5?6@6&
@dm 2oOTD i?a:"s R 72303 Snoou SREeend. S amcﬁﬂoﬁw w%OSDO:b@
1760%&% NPQOOBT.  WEEs Tod - 1 T Jéodaﬁa 8035020 ) eﬂ'?mazs
5%@ Kﬁa@dﬁo 50@30053033@

X company manufactures a product 2,000 kgs, raw materials at ¥ 8 per kg
were supplied to Process-1. Labour cost amounted to ¥ 4,000 and production
overhead incurred was ¥ 2,000. The normal loss was estimated at 10% and

was sold at ¥ 2 per kg. Actual production in the process was 1760 kgs.
Prepare Process-1 account and value of abnormal loss.
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5.

39508 RBRLd @@.033 ri:%j méoﬁ:aﬂ:& 3033204

Fabnief 303 )
mm%@mow 00T ﬁasgaﬁ#ﬁﬁ% 3,000
RRETIDINNOT HTE BRBT FWRWAND 1,000
RReTRR LOSTING BWYWAND 480
3R | 4,880
=es ﬁ:’é 588

FOLFARFBED HOF e FeTEeOoPD Fe 25 R
3360 DRFRW HedT Ty B[ BB B¢ 10 o
meR 2 T 12,000

From the information given below prepare contract account :

Particulars Amount (3}
Materials bought from the market 3,000
Materials issued from stores 1,000
Materials returned to stores 480
Wages 4,880
Direct expenses 588

Works on cost 25% of direct wages
Office on cost 10% of prime cost
Contract price of ¥ 12,000

GN-343
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6.

IFPFTOR W0 SN0 :

(a) 2t d.00e N

(b) et Todweds d.0e. 7iEd YRWNI, BOBEGBAND.
2O SONPTY ToODFAIVFLAE OIALL : 30 HIND
2é Q0T 200 $.80¢. R mcwmwl B WA Boadhed
280, WRONWD & 4

T WAT MG 50 Fodeedsad

O3RedsT WooRO TeSTee ¢ Bedwo 75 T RO .
From the following information calculate :

(a) Total kilometers

(b) Total passenger kilometers

Days operated in a month - 30 days

Trips made by each bus covering a distance of 200 kms one side
No. of buses - 4

Capacity of each bus 50 passengers
Average passenger travelling - 75% capacity.

RN — & / SECTION - C
CINTYTRWER DR wéiﬁ@ﬁ UUZ0R. FHECIROTD e:;éodw ﬁamw eﬂoﬁﬁ@a moacsaéd
Answer any three questions. Each question carries fourteen marks. 3!&14 42

(a) =& Fox Foss, 101 T NI TPLINLOT 248 WY DB worwE BwovLs
aﬁeﬁaﬁaa’» iocsaéo@oiba

<
Sed Besy, Bewyrnde 17,600
Sec IR B[ 8,000

FOODFT mmesaswm CSODT ﬁaﬁcﬂ Be 50 002 HORRAD Tons SROS oeBmR,
TOODF 233 23@ 10 doé a,'SaNcroﬂd 2.3, 8530 Je 10 T, wogaen ~e®~mﬁd

(b) wz‘ioi) xo8 X it 4,000 w&&%’ﬁ@é?\b < 4,00,000 a"aa’de? uaSD Goteplataatenta
LOWOWRONT., |33 DeDHETTN ?240 000 ﬁ%"c?b Eﬁﬁrﬁ%ﬁd TOWOWAT
35y IPFRYY e 5 0%, 3083 IF ©Ad. wws I e 50:) SN,
@@ﬁ%ﬁ , B wmﬁé T 16 doé mwaés SRBCONG. "’6033 Gofelc] Xaﬁ e.roc?:ﬁ
3,650 a:ﬁésﬁﬁ@:o

Tgod BoB X 3 25300, ATFBA 9TTRT, NeEoD &P, BoREACND.
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(a) From the following particulars related to Job No. 101 ascertain the
total cost and estimated selling price.

3
Direct materials 17,600

[

Direct labour 8,000

Works overheads are recovered on the basis of 50% of prime cost and
administrative overhead 10% of works cost. A profit of 10% on total cost
is to be added.

(b} In process X, 4,000 units of raw materials were introduced at a cost of
I 4,00,000. The other expenditure incurred in the process was
< 2,40,000. Out of the units introduced 5% were lost in weight and the
normal loss was 5% which were sold @ ¥ 16 per unit. The output of
process X was only 3,650 units.

Prepare process X A/c and calculate the value of abnormal gain.

8. 31-12-18 IE0ZE VLW 9800 SR&ECHTY, TR A’ 1} BOLOYATOZ VRTINS,
A0 TP DR QG BOIRY TFOINTR, oL WORTIT.

b 283, Tgod - 1 Bod - II T3od - III
) ) ) )
Sed g, JRRW 7,542 2,600 1,980 2,962
SNRAS) 9,000 2,000 3,000 4,000
NWBVE LTTBE D 9,000f - e e
TOE GVBES 950 (Fugrisy) | 840 (Fusnw) | 750 (Feisnsd)
wRRS, 35 5% 10% 15%
), 5 BP0 B (I Pesy) T2 34 X5

1000 sFusnemy, T 3 0od @Hgod - 13Y HOBWoRITNS.  RewE ORTHOHY
SEPEAND DY) BT BRET AOPOY. BE Tgodhod evIBIow BOBT
TR Fer COIRTHIL THF) WOITEN TOTODE tRARAN Aer BoSRIHIT.  YoTET
LBTEE Je 100 O, 63 3RI00T NEBCRMZE. OO 530D, FoIROA.

P.T.O.
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Product ‘A’ is obtained after it passes through three distinct processes.
The following information is obtained from the accounts for week ending

31-12-18.

ITEMS TOTAL |PROCESS - I | PROCESS - II |PROCESS - III

) ) ) )

Direct materials 7,542 2,600 1,980 2,962
Direct wages 9,000 2,000 3,000 4,000
Production overheads 9,000 - e
Output during the week 950 (units) 840 (units) 750 (units)
Normal loss 5% 10% 15%
Sale of scrap per unit T2 T4 =5

1000 units at ¥ 3 each were introduced in Process-l.

There were no stock of

materials or work-in-progress at the beginning or at the end of the period.
The output of each process passes directly to next process and finally to
finished stock. Production overhead is recovered at 100% of direct wages.

Prepare Process cost a/c.

39808 B0 2018 Fe MOT HTHD mEANYR Bow 0TI,

A B

BTy 5 ) )
QHETTE, FDLAT TUYRND 1,70,698| 1,46,534
3RO 1,48,750| 1,37,046
m@ﬁd 30,000| 25,000
Se0 DWENYD 6,334 5,718
mgjo@ bk ity 3.252 7,704
e ENT &OSTNBOLS s@dargmﬂa 1,098 1,264
TR0edeFORT BOX 3,90,000( 2,90,000
TRwederoAT TR 9,000 6,000
ABeIITYT FemzEonied (31/12/2018) 3,766 3,472
309 s (31/12/2018) 4,800 4,200
Sed Fdgnsh wos (31/12/2018) 480 360
RITT =P, (31/12/2018) 22,000 19,000
rb%ﬁoja 23e3 5,00,000/| 4,00,000

0% TwmedesCnma BPORY Je 80 SRy INTIW, FORFLONOT  BEOHLOVAT.

m&RaRE TeRe TOLRIeaTRIORZ, TeA.
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The following information relates to two contracts of a company for the year

2018.

Particulars (% (g)
Materials sent to site 1,70,698| 1,46,534
Labour 1,48,750|1,37,046
Plant 30,000| 25,000
Direct expenses 6,334 5,718
Establishment charges 8,252 7,704
Materials returned to stores 1,098 1,264
Work certified 3,90,000( 2,90,000
Work uncertified 9,000 6,000
Materials at site (31/12/2018) 3,766 3,472
Wages outstanding (31/12/2018) 4,800 4,200
Direct expenses outstanding (31/12/2018) 480 360
Value of plant (31/12/2018) 22,000 19,000
Contract Price 5,00,000| 4,00,000

The cash received from the contractee was 80% of the value of the work
Certified. Prepare contract account and contractee’s account.

P.T.O.
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20T Tomedt WO Toton T2LE0WoE 2018-2019 3¢ OR 3% Wl s

=02 =28 =t F

8

!

Sy, WD GINAMLIT T Tllewe. 11 :__;;.;uawﬂa.

(a)

5 Todmeds ~Ahs ZZEmn ] 1,00,000, % 2,40,000, T 90,000, T 1,10, ,000
D ¥ 1,60,00

TOTJING 0T mmars =29 Je 20 dmu dagp ees.

ToXFT OFTed f:__i_.-.a::. Newtarestsn) ﬁzgﬁ% ) Wagenngd e 80 OXp, ATFYOD
aeds.
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QBeeBFT He, ¥ 800 oars.

350 TR T 2,000 TS Sonwd.

Tomesh e 301 4,000 T B,

TIOD HOT BB BRETY TROLHOR 10T SR T 6,400 Té 6 donen.
20BYE HedT wy Je 4 oAFS.

QBT DWFNY s T 40,000.

900 wodrea%tﬁo 1,600 3.c0¢. N¥), TRT TeQITNT.

6 MU ne woan T3cdeowdg X 100 803 T Sorier.

—
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Workout in an appropriate cost sheet and find the unit cost i.e., per passenger
km, for the year 2018-2019, for a fleet of passenger buses run by a transport
company. The following information is extracted from its books.

(a)

(8)

(h)

S passenger buses of ¥ 1,00,000, T 2,40,000, ¥ 90,000, ¥ 1,10,000 and
< 1,60,000 respectively,

Yearly depreciation on vehicle is 20% of cost.

Annual repair charges, maintenance and spare parts 80% of depreciation.

Wages of 10 drivers is T 200 per month.

Wages of 20 cleaners at ¥ 100 per month.

Director’s fees - ¥ 800 per month.

Office establishment ¥ 2,000 per month

License and taxes at ¥ 4,000 per annum.

Realization by sale of old tyres and tubes - ¥ 6,400 for every 6 months.

Yearly rate of interest is 4% on capital.

Diesel expenses per annum is 2 40,000.

900 passengers were carried over 1,600 kms during the year,

Rent of 6 garages at ¥ 100 each per month.

P.T.O.
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WOTY BOTAOZW 3c3OTD FUTNTT), BROOW, TS FReo BRTHF T TP
FOOWE ‘A’ T TooTo8d BSolW, NG TRZW B3 FFsowed a&g WITNF, VeRTYT.

3
(B8 Fuse)
305p, WRONW 140
3T 30D : 28 Rotdnsd, T 2.50 @ noedR 70
(Beead X - 16 nogdnsd WD el Y - 12 noednd)
WTREFE TIOBLTTOT SN 10
’ 220
3REY : 33.67% ﬁzgﬁ@mﬁ (A=T°BE) 74
294
TOH-THTW 030D HFeTTB B3 §950R08T ¢
c 4
'6?.3% ngﬁ@é& 3,00,000 aa;é FANPIORIX) 5,00,000
3e0 3RO
Qo8 X 20,000
el Y 24,000
ﬂ%@c"“ DN 8,000
LBV
Qoo X 10,000
qoesd Y 18,000
28 % 1,20,000
5,00,000 5,00,000

NTVBH [oAneR eﬂgocbmmwoé’ ATORO NotIod TTNLD 2.0Te wﬁdagcﬁ.
(a) B0 ﬁsa;d TEIODT, TOIWOR.

(b) <RB-TF TeIohY SRe0ATID LaT'BE Wosny BTROTY wwnsd X 303 avess
Y noR «dzsazgen ﬁéﬁg@@' BeHR, TOWERROWD.

(c) =Tows 23@303330@.{ FOR&GBODED Je 20 OFE, i), g3, AedA.

o




LT 11 GN-343

A company has manufacturing shops. The shop floor supervisor presented
the following cost for job A to determine the selling price :

4
(per unit)
Material 140
Direct wages; 28 hrs @ ¥ 2.50 per hr. 70
(Dept. X - 16 hrs and Dept. Y - 12 hrs)
Chargeable expenses (stores) 19
220
Add : 33.67% for expenses (overhead) 74
294

Analysis of the P/L account shows the following :

4 g

Materials 3,00,000 Sales less returns 5,00,000
Direct wages :

Department ~ X 20,000

Department — Y 24,000

Stores expenses 3,000
Overheads :

Department — X 10,000

Department - Y 18,000
Gross Profit 1,20,000 ;

5,00,000 5,00,000

It is noted that average hourly rates for the two departments X and Y are
similar. You are required to :

(a) Draw up a job cost sheet.

(b) Calculate the revised cost using overhead figures as shown in the profit
and loss a/c as the basis for charging overhead to Department X and Y.

(c) Add 20% of total cost to determine the selling price.

-00o0-




